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2. waw f AR e TE e
Answer the following questions in brief :

(a) TN B IO S el |
' Distinguish  between estimate and
estimator.

(b) aibva A oA e T2

What do you understand by Yates’
correction?

(c) @ #@mIs F0 FEAFH T G T
{417

How to resolve the problem of zero
differences in sign test?

@ e Rorer o e /2

What are the basic assumptions made
in analysis of variance?

() e Ruis e F a5 =17
‘i.‘fhat do you understand by randomiza-
tions in experimental design?

3. wﬁmmﬁm@:@ﬁm; 6x2=12

Answer any {wo of the following questions :

(@) dforfen afowm 367 Fem B g @
o AR 42 FRHEE W HE P

A Rrre weE S | 9+4=6

2x5=10

(s)

What do you mean by sampling
distribution of a statigtic? Obtain the
confidence interval for mean and
variance of a normal distribution in case

of two-sample problem.

(®)

fe}

& o e vemE fr R Wb wEE
S A RIS WCPHE T L 2446
What are the criteria of a pgood
estimator? Explain the different steps for
testing of a hypothesis.

wwﬁwﬁ@ﬁwa@ﬁmﬁ{w,
Wﬁ-tﬂt@{ﬁi&ﬁmiﬁmw
wcﬁmmwﬁmwns%wwu
s oArw o0 @, dfee( P GUe I
sl o o omm G (fLWRR
fo.05, 20 = 17253 2+4=6

Define type 1 and type Il errors with
examples. Two random samples gave the
following results. Test whether the
samples come from the same normal
population at 5% level of significance.
(Given tp.0s, 20 = 1-725) :

( Continued )

Sample | Size Sample l Sum of squares of deviations
afeed | W | mean from the mean
' o | e oA A o AT
o4 A
1 10 15 90
2 L 00 AT 108
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trmA Tice s s e i S
A AR WA A el AT
AW JAFAE A% AT BEAT T
%994 Caqerd vy fore | 3+4+2=9

Define categorical data with examples.
Discuss the y”-test of goodness of fit of

a theoretical distribution te an observed
frequency distribution. State the
conditions for the validity of ;.;Er-test.

WY/ Or

A U TR AEIRE A |
wies «Fmm T9E AfFAEE e | e oA
4 A, B, C 9% DT HeTTT FORYA *[
120, 200, 150 WF 130 SHE TGHEs
e HDL %9 fr =ime :

A B i D
‘% HDL 53 80 68 57
BB HDL 79 67 120 82 73

9% vRYs vRT % HDL EEdE 9F
IR Seies S 3 331 1 (F W

2
X3,0.05 = 7°815) 3+6=0

Write the procedure of testing the
significance of an observed sample
correlation coefficient, The following data

{ Continued )
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gives the HDL levels in random samples
of sizes 120, 200, 150 and 130 from the
adult population of the four cities A, B, C
and D :

A B (& D

High HDL 53 | 80.| 68 | 57
Not high HDL | 67 | 120 | 82 | 73

Test the equality of proportions of adults
with high HDL cholesterol in these four

cities. (Given x%l o.05 = 7-815)

wemar e SrwermE B R wltes
e TRROETNES e RrEeReE SR
e 42 T3 I 1A ofArw IR, 32
s Frvey qfisrea WPE (I9E) w0
o T4 T :
56, 62, 61, 54, 52, 32, 24, 35, 50,
42, 52, 49, 26, 31, 31, 54, 38, 36,
45, 53, 37, 40, 38, 31, 20, 25, 45,
52, 48, 39, 30, 38

TR Aw sRaE 0:05 TR weRe
APFROT FEA F4 | 2+5=7
What are the limitations of non-
parametric test? To test the claim that
the median age of mathematics faculty
in the State community colleges is at
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2. e f e PR T e s sietribution of a statistic? Obtain the
Answer the following questions i1l brief : confidence interval for variance of &
! normal distribution in case of two-
(a) TR S AN T e e | _sample problem.
Distinguish between estimate and
estimator. (b) &1 T sTRee vETR ¥ e & wER
Ry A SR WURPTR T L+d=5
b) =¥W oA T = f& 7 T I][?@TI i What are the criteria of & good
What are the two types of error in testing estimator? Explain the different steps for
of hypothesis? Explain it. testing of a hypothesis.
(c)ﬁﬁﬂmﬁmwmmm (c) 3%%%%%&%%@%%&@?
{97 751 Teire AOTE O (o] TR,
How to resolve the problem of zero o R | 5% wieFE WD o drm ¥ O,
differences in sign test? o ¥OI GCF P R oA A CHR
; e (fE =R tp, = ) 2By 1+4=5
@) s R g sfemer R 72 i
; : . Define type 1 and type {1 errors. Two
‘.What a.ri—:re th? ba_s_ic assumptions made Candom samples gave the following
in analysis of variance? results, Test whether the samples
: come from the sameé normal population
(e) “AmrES CarETe Tfaeese e © =7 T e% level of significance. (Given
What do you understand by randomiza- =1-725) :
' ' to.05, 20 T S :

tions in experimental design?
' Sum of squares of deviations
from the medarn

mmwwmmm:ﬂﬁw
54 A

3. worw i A o P e s 5x2=10

Answer any two of the following gquestions :

(o) ofonfam ofesm 3w S B g <O
ey 309 qR-afewd TR SR T
Ww-ﬁ@l 2+3=5
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s e T ieT
o] AAATTY A5
Define categorical data with examples.
Discuss the xz-test of goodness of fit of

a theoretical distribution to an observed
frequency distribution.

wed] / Or

e wEe A e & g T BERT
el A, B, C S/ D3 29T G o
120, 200, 150 9 130 wPRT

Te HDL o =i

A B C D
s3 | 80 | 68 | 57

a7 120 82 73
4% WY vEe O% HDL e 49

aerEy wweTed el s w9 (R
2

%3, 0.05 = 7.815) 24+5=7

% HDL
B HDL 793

What do you understand by Yates’
correction? The following data gives the
HDL levels in random samples of sizes
120, 2{{{}, 150 and 130 from the adult
population of the four cities A, B, C
and D : i

s A B gl B
High HDL 53 | 80 | 68 | 57
Nothigh HDL | 67 | 120 | 82 | 73

( Continued )

3:+4n=’

Test the eguality of proportions of adults
with high HDL cholesterol in these four

cities. (Given X3 005 = 7-819

56, 62, 61, 54, 52, 32, 2% 35, 50,
a2, 52, 49, 26, 31, 31, 5%, 38, 36,
45 53, 37, 40, 38, 31, 20, 05, 45,
52, 48, 39, 30, 38

wBrn R FRAE G*Gﬁwmﬁﬂﬁ@ﬁ'&
SR FILO! pEeE T4 | 4+ 6=8

What are the limitations of non-
parametric test? To test the claim that
the median age of mathematics faculty
in the State community colleges is at
least 42 years, the results from &
random sample of 99 mathematics
faculties gave the following ages (in
years) :
56, 62, 61, 54, 52, 32, 24, 35, 50,
49, 52, 49, 26, a1, 31, 54, 38, 36,
45, 53, 37, 40, 38, 31, 20, 25, 45,
52, 48, 89, 30, 38

Use the sign test at the 0-05
significance 1o test the claim.

level of
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